Challenge

A tricycle has 3 wheels. How many wheels are there on 6
tricycles?

Draw a representation of this before writing out the cal-
culation and finding the answer.
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Challenge

James is buying C.Ds. He buys 5 C.Ds at a cost of
f3 each. Draw a representation of this before
writing out the calculation and finding the
answetr.



Answer

A tricycle has 3 wheels. How many wheels are there on 6
tricycles?

Draw a representation of this before writing out the cal-
culation and finding the answer.
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3 + 3 +3 + 3 + 3 + 3

6bx3=18



Challenge - ANSWER

James is buying C.Ds. He buys 5 C.Ds at a cost of £3 each. Draw a
representation of this before writing out the calculation and finding the
answer.
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£3 + £3 + £3 + £3 + £3 = £15

5x£3=£15



